Alpha Ring

Top portion

, Rim Radius = 0.75mm QO?Smm

\’ . RimWidth=1.45mm

-

| Portion Width = 10.2mm
- Metal Bar Height

A

Metal Bar Width = 13mm

/////// -~ Rim Height = 1.8mm
~ Bottom portion

. Clear Glue = 300um — Note: Flat

\ Inlay Cover = 300Mm (inis coutd be reduced in the future for normal paper)
~Inlay (Includes Antenna / Transponder) = 100um
~ Absorber = 400um

— Ring Metal = 750um — Note: Comfort fit

A

A

Depth = 1.8mm

Top portion inner length = 17mm
~ Top portion outer length

Inner diameter

- QOuter diameter
Bottom portion inner length = 17mm

- Bottom portion outer length
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